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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-1 ( Subsidiary-1 ) 

Y“U] Yy [ S-1 : Micro-Economics (SEC-1) ] 
a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

(Eı) (i) Â\ˆÁN˛ÁÃ[˝ ◊X◊V¤rÙ %Á„Ã^ C ◊X◊V¤rÙ VÁ„] V«◊ªRÙO V–[˝Ó 

y‘„Ã^Ã[˝ Âl˘‰y Â\ˆÁN˛Á ◊Eı\ˆÁ„[˝ \ˆÁÃ[˝aÁ]Ó %L¤X 

Eı„Ã[˝X TˆÁ ◊XÃ[˝„Yl˘ ÂÃ[˝FÁÃ[˝ ◊[˝‰`¿b„SÃ[˝ aÁc˜Á„^Ó 

[˝«◊Mı„Ã^ ◊VX* A Y“a„Ü ÂVFÁX ^◊V V«◊ªRÙO V–„[˝ÓÃ[˝ 

VÁ] A[˝e Â\ˆÁN˛ÁÃ[˝ %ÁÃ^ AEıc˜O ◊V„Eı C AEıc˜O 

c˜Á„Ã[˝ Y◊Ã[˝[˝◊Tˆ¤Tˆ c˜Ã^, TˆÁc˜„_ Â\ˆÁN˛ÁÃ[˝ \ˆÁÃ[˝aÁ]Ó 

◊Eı\ˆÁ„[˝ Y“\ˆÁ◊[˝Tˆ c˜„[˝* 10 + 4 

 (ii) ªJÙÁ◊c˜VÁÃ[˝ VÁ] ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ [˝_„Tˆ Eı›    

Â[˝Á„MıX ? Ac˜O ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ ]ÁX EıTˆ Y“EıÁÃ[˝ 

c˜„Tˆ YÁ„Ã[˝ ? Eı› W˝Ã[˝„XÃ[˝ V–„[˝ÓÃ[˝ Âl˘‰y ªJÙÁ◊c˜VÁ 

a+…SÔ %◊ÿöˆ◊TˆÿöˆÁYEı c˜Ã^ ? 2 + 2 + 2 

(F) (i) ÿëˆîEıÁ_›X C V›HÔEıÁ_›X =dYÁVX [˝Ó„Ã^Ã[˝ 

W˝ÁÃ[˝SÁm◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 4 

 (ii) GQÕˆ ◊ÿöˆÃ[˝ [˝ÓÃ^ ÂÃ[˝FÁÃ[˝ %ÁE ı◊Tˆ ◊EıÃ[˝÷Y ◊ªJÙyac˜ 

[˝ÓÁFÓÁ EıÃ[˝”X* 4 

 (iii) GQÕˆ [˝ÓÃ^ C Y“Á◊‹ôˆEı [˝Ó„Ã^Ã[˝ ]„W˝Ó a+EÔı◊ªRÙO 

ÂÃ[˝FÁ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó ◊[˝‰`¿bS EıÃ[˝”X* 6 

 (iv) ÂEıÁ„XÁ ZıÁ„]ÔÃ[˝ ÿëˆîEıÁ_›X GQÕˆ [˝ÓÃ^ ÂÃ[˝FÁ      

U %ÁE ı◊TˆÃ[˝ c˜Ã^ ÂEıX [˝ÓÁFÓÁ EıÃ[˝”X* 6 

 (G) Y“Á◊‹ôˆEı =dYÁVX`›_TˆÁ Tˆ√º¯ EıÁ„Eı [˝„_ ? Ac˜O Tˆ„√º¯Ã[˝ 

%X«◊]Tˆ `Tˆ¤m◊_ ◊Eı ◊Eı ? ae„l˘„Y Ac˜O Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X* Ac˜O Tˆ„√º¯Ã[˝ a]Á„_ÁªJÙXÁm◊_ ae„l˘„Y ◊X„V¤` 

EıÃ[˝”X* 2 + 4 + 10 + 4 

 (H) Y…SÔÁÜ Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ Eı› Eı› 

%Á„_ÁªJÙXÁ EıÃ[˝”X* Y…SÔÁÜ Y“◊Tˆ„^Á◊GTˆÁ]…_Eı ZıÁ„]ÔÃ[˝ 

ÿëˆîEıÁ_›X C V›HÔEıÁ_›X \ˆÁÃ[˝aÁ]Ó ◊[˝‰`¿bS EıÃ[˝”X* 

   8 + 12 
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2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) Y“Á◊‹ôˆEı =Y„^Á◊GTˆÁ EıÁ„Eı [˝„_ ? Y“Á◊‹ôˆEı =Y„^ÁGTˆ√º¯ 

%X«^ÁÃ^› ◊X◊V¤rÙ VÁ„] ÂEıÁX AEı◊ªRÙO V–[˝Ó y‘„Ã^Ã[˝ Âl˘‰y 

Â\ˆÁN˛ÁÃ[˝ =Y„^ÁG a[˝ÔÁ◊W˝EıÃ[˝„SÃ[˝ `Tˆ¤◊ªRÙO ÂÃ[˝FÁ◊ªJÙy 

ac˜EıÁ„Ã[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 2 + 10 

(F) ◊XÃ[˝„Yl˘ ÂÃ[˝FÁ EıÁ„Eı [˝„_ ? ◊XÃ[˝„Yl˘ ÂÃ[˝FÁÃ[˝  

]ÁX◊ªJÙy ◊Eı ? ◊XÃ[˝„Yl˘ ÂÃ[˝FÁÃ[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? 

Ac˜O È[˝◊`rÙÓm◊_ ◊ªJÙyac˜ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  2 + 2 + 2 + 6 

(G) (i) =dYÁVX %„Yl˘Eı EıÁ„Eı [˝„_ ? =dYÁV„XÃ[˝ 

Â]Ï◊_Eı =YÁVÁXm◊_ ◊Eı ◊Eı ? 2 + 2 

 (ii) a„]ÁdYÁVX ÂÃ[˝FÁ EıÁ„Eı [˝„_ ? 2 

 (iii) =YÁVÁ„XÃ[˝ Y“◊TˆVÁX C =dYÁV„XÃ[˝ ]ÁyÁÃ[˝ 

Y“◊TˆVÁ„XÃ[˝ YÁUÔEıÓ [˝«◊Mı„Ã^ ◊VX* 6 

(H) AEı‰ªJÙ◊ªRÙOÃ^Á [˝ÁLÁÃ[˝ EıÁ„Eı [˝„_ ? Ac˜O [˝ÁLÁ„Ã[˝ ZıÁ„]ÔÃ[˝ 

ÿëˆîEıÁ_›X \ˆÁÃ[˝aÁ]Ó [˝ÓÁFÓÁ EıÃ[˝”X* Ac˜O [˝ÁLÁ„Ã[˝ 

ÂEıÁ„XÁ Â^ÁGÁX ÂÃ[˝FÁ ÂXc˜O ÂEıX ? 2 + 6 + 4 

(I¯) ]«XÁZıÁ EıÁ„Eı [˝„_ ? Â]ÁªRÙO ]«XÁZıÁ C X›ªRÙO ]«XÁZıÁÃ[˝ 

]„W˝Ó YÁUÔEıÓ ◊Eı ? ]«XÁZıÁ ◊[˝bÃ^Eı Mg«ı◊Eı[˝c˜X Tˆ√º¯◊ªRÙO 

ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 + 6 

(ªJÙ) FÁLXÁ C %ÁW˝ÁFÁLXÁÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊Eı ? FÁLXÁÃ[˝ 

%ÁW˝«◊XEı Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) ◊XE ırÙ V–[˝Ó EıÁ„Eı [˝„_ ? Â\ˆÁN˛Á ^◊V TˆÁÃ[˝ a]ÿôˆ %ÁÃ^ 

X A[˝e Y Ac˜O V«◊ªRÙO V–[˝Ó y‘Ã^ EıÃ[˝„Tˆ [˝ÓÃ^ Eı„Ã[˝ TˆÁc˜„_ 

◊Eı Ac˜O V«◊ªRÙO V–[˝Ó AEıc˜O a„Ü ◊XE ırÙ V–[˝Ó c˜„Tˆ YÁ„Ã[˝ ? 

  2 + 4 

(F) ªJÙÁ◊c˜VÁ EıÁ„Eı [˝„_ ? ªJÙÁ◊c˜VÁ ◊Eı ◊Eı ◊[˝b„Ã^Ã[˝ =YÃ[˝ 

◊X\ˆ¤Ã[˝ Eı„Ã[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 2 + 4 

(G) ◊G„ZıX V–[˝Ó EıÁ„Eı [˝„_ ? ◊G„ZıX V–„[˝ÓÃ[˝ Âl˘‰y ªJÙÁ◊c˜VÁ 

ÂÃ[˝FÁÃ[˝ %ÁE ı◊Tˆ ◊EıÃ[˝÷Y [˝ÓÁFÓÁ EıÃ[˝”X* 2 + 4 

(H) ªJÙÁ◊c˜VÁÃ[˝ YÁÃ[˝&◊Ã[˝Eı VÁ]GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ EıÁ„Eı  

[˝„_ ? Y◊Ã[˝[˝Tˆ¤ C Y◊Ã[˝Y…Ã[˝Eı V–„[˝ÓÃ[˝ Âl˘‰y Ac˜O 

◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ ◊ªJÙc˜‘ ◊Eı c˜Ã^ %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(I¯) (i) y‘]‚—˜Áa]ÁX Y“Á◊‹ôˆEı =dYÁV„XÃ[˝ ◊[˝◊W˝◊ªRÙO ◊[˝[˝ Tˆ 

EıÃ[˝”X*  

 (ii) Â]ÁªRÙO =dYÁVX ÂÃ[˝FÁ◊ªRÙO ^◊V ]…_◊[˝≥V«GÁ]› AEı◊ªRÙO 

aÃ[˝_„Ã[˝FÁ c˜Ã^ TˆÁc˜„_ GQÕˆ C Y“Á◊‹ôˆEı =dYÁVX 

ÂÃ[˝FÁm◊_Ã[˝ %ÁE ı◊Tˆ ÂEı]X c˜„[˝ ? 2 + 4 

(ªJÙ) ]ÁyÁGTˆ Y“◊TˆVÁ„XÃ[˝ %UÔ ◊Eı ? y‘]‚—˜Áa]ÁX Y“Á◊‹ôˆEı 

=dYÁV„XÃ[˝ ◊[˝◊W˝ A[˝e y‘]‚—˜Áa]ÁX ]ÁyÁGTˆ 

Y“◊TˆVÁ„XÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊Eı ? 2 + 4 

(ªK˜) a+“aÁÃ[˝S YU ◊Eı ? a+“aÁÃ[˝S YU ÂU„Eı ◊Eı\ˆÁ„[˝ 

V›HÔEıÁ_›X Â]ÁªRÙO [˝ÓÃ^ ÂÃ[˝FÁ YÁCÃ^Á ^ÁÃ^ ? 2 + 4 

(L) Y…SÔÁÜ Y“◊Tˆ„^Á◊GTˆÁÃ[˝ [˝ÁLÁ„Ã[˝ AEı◊ªRÙO ZıÁ„]ÔÃ[˝ ÿëˆîEıÁ_›X 

Â^ÁGÁX ÂÃ[˝FÁ Eı›\ˆÁ„[˝ ◊XÃ[˝÷YS EıÃ[˝„[˝X ? 6 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

(a) (i) Explain with the help of indifference 

curve analysis how a consumer 

having fixed income attains 

equilibrium in purchasing two goods 

with fixed prices. In this context, show 

how consumer's equilibrium will be 

affected if prices of the two goods and 

consumer's income change in the 

same direction and in same 

proportion. 10 + 4 

 (ii) What do you mean by price elasticity 

of demand ? What are the different 

values of this elasticity ? For which 

type of goods will the demand be 

completely inelastic ? 2 + 2 + 2 

(b) (i) Explain the concepts of short-run and 

long-run cost of production. 4 

 (ii) Explain with the help of a diagram, 

the shape of average fixed cost curve.  

   4 

 (iii) Analyse the relation between average 

cost and marginal cost with the help 

of a diagram. 6 

 (iv) Explain why short-run average cost 

(SAC) curve of a firm is U shaped. 6 

(c) What is the marginal productivity theory ? 

What are the assumptions of this theory ? 

Briefly explain the theory. Briefly indicate 

the criticism of this theory. 2 + 4 + 10 + 4  

(d) Discuss the different features of a perfectly 

competitive market. Explain the short-run 

and long-run equilibrium of a perfectly 

competitive firm. 8 + 12 

2. Answer any three questions  : 12 × 3 = 36 

(a) What is marginal utility ? Explain 

diagrammatically in terms of marginal 

utility theory the utility maximising 

condition of a consumer consuming a 

commodity at a given price. 2 + 10 

(b) What is an 'Indifference curve' ? What is the 

'Indifference map' ? What are the 

characteristics of an 'Indifference curve' ? 

Explain them with the help of diagram. 

  2 + 2 + 2 + 6  

(c) (i) What is a production function ? What 

are the basic factors of production ?  

   2 + 2 

 (ii) What is an isoquant ? 2 
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 (iii) Explain the difference between 

returns to factor and returns to scale. 

   6 

(d) What is meant by monopoly ? Discuss the 

short-run equilibrium of a firm in this 

market. Why there is no supply curve in a 

monopoly market ?  2 + 6 + 4  

(e) What is profit ? Distinguish between gross 

profit and net profit. Discuss briefly the 

risk bearing theory of profit. 2 + 4 + 6  

(f) What is the difference between 'rent' and 

'quasi-rent' ? Explain the modern theory of 

rent. 4 + 8 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is inferior good ? If a consumer 

spends all his income in purchasing only 

two commodities X and Y, is it possible that 

both the commodities are inferior ? 2 + 4  

(b) What is demand ? Explain the factors on 

which demand depends. 2 + 4 

(c) What is 'Giffen good' ? Explain what is the 

shape of the demand curve of a Giffen good. 

  2 + 4  

(d) What is cross-price elasticity of demand ? 

Explain the sign of such elasticity in case of 

substitute goods and complementary 

goods. 2 + 4 

(e) (i) State the law of diminishing marginal 

returns. 

 (ii) If the total production curve is a 

straight line passing through the 

origin, what will be the shape of 

average production curve and 

marginal production curve ? 2 + 4 

(f) What do you mean by 'Returns to scale' ? 

Distinguish between diminishing returns to 

a factor of production and decreasing 

returns to scale (DRS). 2 + 4  

(g) What is 'Expansion Path' ? How can we 

derive long run total cost curve from 

expansion path ? 2 + 4  

(h) How can the supply curve be derived in the 

short run in a perfectly competitive   

market ? 6 

    


